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LABOURWELFARE AND INDUSTRIAL RELATIONS/LABOUR AND
SOCIALWELFARE/ HUMAN RESOURCEMANAGEMENT

PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

Motivation is an effective instrument in the hands of management in inspg
work force. It is the major task of every manager to motivate his suboyg

create the will to work among the subordinates, it should also be remefg ~
worker may be immensely capable of doing some work, nothing ceffl be acT¥®ed if he
1&}

is not willing to work. Creation of a will to work is motivation in s t true sense
of the terrm. In order to motivate workers to work for igptional goals, the
manager must determine the motives or needs of orjer and provide an

environment in which appropriate incentives are avaffable @ their satisfaction. If the

management is successful in doing so, it wil

cessful in increasing the

willingness of the workers for work. This wil Tng efficiency and effectiveness of

absenteeism labour turnover an rest. This will create better industrial

relations in the enterprise sin opportunities in the organisation for the need

satisfaction of the workersgthe e more committed to the organisation and the

better work force will o0 join the organisation. Motivation will also faster

team spirit among k s and increase their loyalty to work group.

1. Low muotivatign can o :

(A) incr I$VE!I‘ (B) increased productivity

(C) i ss to work (D) None of the above

ich of the following statements is correct ?
(A) Need and motive of the worker are one and the same
(B) Job satisfaction is responsible for employee turnover
(C) Motive of an employee can be known by studying his needs

(D) None of the above
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3.  Which of the following is not the function of the manager ?
(A) Motivating the workforce
(B) Providing monetary incentives to workers to make them work
(C) Building team spirit among workers

(D) Reducing distrust between the management and the employees

4.  ‘Turnover’ in this passage refers to : ‘ ':

(A) Total money received by the organisation from sales ofdis goods

*

(B) Movement of people into and out of the establis
(C) Number of workers leaving employment laced
(D) Rate of production by a machine.

5. Workers need to be motivated j @

(A) inspire them to increfge roductivity
(B) promote frate arrgng workers
(C) reduce labour er and labour unrest
(D) allo ovg
6. § ity of Command” principle of effective direction suggests :

Unity among subordinates
(B) Same command to all
(C) A command must not be altered

(D) A subordinate accountable to only one superior

J—5508 4
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7. Match List I (Management thinkers) with List II (Sequence of functions advocated by
them ) and select the correct answer using the codes given below :

List I List IT

(a) Newman and Summer (i) Organising, planning, leading and
controlling

(b) Henry Fayol (ii) Planning, organising, commanding,
coordinating and controlling

(c) Luther Gullick (iii) Planning, organising, staffing, ec
and controlling

(d) Koontz and O’'Donnel (ivy “POSDCORB” 0

Codes :
(@) ) (0 (@ O

A @ @ @

) (i)

B) @ @ @) )
© O @ @) (@) 0

) ) (i)

@ 6 G

8. Match the following : \

List I List II
(a) Staff Executives i)  Advisory function
(b) Directing (i) Manpower development
(c) Line Executives (iii)y Guiding function
(d) Staffing (iv) Managerial authority
Codes :

c/® (@

iv) (i)
(iii) (i)
(iv) ()
) () @ () (i)
9. A special kind of plan formulated in order to meet the challenge of competitors is

called :

(A) Strategy (B) Single use plan

(C) Programme (D) Project

J—5508 6
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a1 A e Hohdl o1 STANT A L Tal S T 9T i : |
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(c) TR Tfew (iii) TTESE, Hafed, wdl, feem iR fe=m &
(d) FHes TE AR (iv) o 0T el s 0

e
(a) () (o) (@) O
(A) (i) (ii) iv) (i

(iv) (i) .
® @ O @ @ @
© @ G) i) ()

D) G @ @Gv) (i) @
8. fmAfafea =1 faam &iRA | k
CEin] T
(a) W% wEUTS (i) oS gt s
(b) FeeH @ (i) SFAfE fom
(c) T HEIUH (i) ARG YehT
(d) FHERY oxeff (iv) WEEER T
T @ .
(a (c} (d)
(A) iv) (i)

(i)

)
i

ONY) i) () ()

@ O @) @

9.  wfaaifmEi s gHifd s e S & ford fafda o yer i dieen @ % ©
(A)  TorHIfd (B) THTEa I @M (Tehal STAN AT
(C) freareA (D) SR (aRErs)
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10. Directing function of management includes :
(A) Issuing orders to subordinates
(B) Supervising subordinates
(C) Guiding and teaching subordinates

(D) All the above

11. Approaches to job design includes :

(A) Engineering approach O
(B) Human approach L 2

(C) The job characteristic approach @

(D) All the above @0

12. Formula for Labour Turnover rate isg

(A) Labour Turnover=

manent total loss

(B) Labour Turn - %100
efmanent partial loss

Number of employees left during a specified period %100

(©) Lab noser = - -
Average number of employees during the same period

Number of employees present

apour Turnover = x 100

Number of employees left

13. Bonus is paid from :
(A) Gross profit (B) Available surplus

(C) Allocable surplus (D) None of the above
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10. Yo % TR 1 FIQRH T G Ll © -
(A) TR I STe S Al
(B)  STRfITERl ST TRIGIETOT SREAT
(C) ardiTeell o1 ANeRH SR fvaor e
(D) 3Swd® |

11. & (Site) ey & Surmi (o) § wifier 0
(A)  ZfifEfaT 3are O
(B) HMSTT IUNTH .
(€ & (Sa) ferea 3am @
(D) S =t 0

12. W YUATeR 1 I © : &

STEET e
(o) TR 100
(B) S U _ « 100
.@Wmﬁ% TR == ¢ HHATE w1 GEA
© ™™ = : : x 100

IUTRIT FHHATAT ol T&

= — 100
EER ke ontoikakerc

13. &9 form d 9 fean s €2
(A) FA (FHaT) ™ (B) ST 3l
(C) oA 9 aifdiem (D) 39Y® ¥ 9 FE &I
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14. Assertion (A) : National minimum wage policy for unorganised workers can bring
uniformity in rate of minimum wages in all the states.

Reason (R) : Uniformity in rate of minimum wages cannot be maintained in all the
states.

Codes :
(A) (A) is right, (R) is wrong
(B) Both (A) and (R) are wrong

(C) Both (A) and (R) are right
(D) (A) is wrong, (R} is right O

15. Under job Evaluation techniques ranking method include@ L 4
S

(A) Simple ranking (B) Rankin
(C) Paired comparison (D) A
16. Match the following : \
List I ist 11
(a) Job specification (i oplure for determining duties and skills
job and the kind of person required
perform
(b) Career iiy  List of Job’s duties, responsibilities,

reporting, relations, working conditions

(c) Job ana¥gsis (iii) List of job’s human requirements in terms
¢ of education, skills, personality etc.
{d) iption (iv) The occupational positions a person has

had over many years

(@) () (0 (@
(A) O @) (@) ()
B) @ () @) ()
© @@ ) @O @
(D) () @) (i) (1)
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14. fReT (A):  eTEfed Toigd & ford, Tt = gy ifd wer Tt § =g wergdt Bt
WY THEYAT ol Hehall & |

HIUT (R) : T Tl H A ASIG i X H Toheudt e 78 W@ S gl § |
- =
(A) (A) T & T (R) e B |

(B) (A) 3R (R) I Terd € |

(€  (A) 3R (R) S T € 0

(D) (A) 7Ted § T (R) & T O
15. o Hoais wfafy % siarta W faf F wfe ¥ - .

(A) I R

(B) H&A
(C) Fftma e (D) ??5.

16. Tr=fafad =1 faam wiE|

gt I
(a) e fafire faawo qﬁmaﬁtﬁwaﬁ?mﬁw
* %Wwﬁﬁ%waﬂﬁa’r{mwzﬁ
(b) (i) e w1 egfear, feEr, Rafdn, gy,
Fd A I fefaEr
() ’ (iii) foren, Fv@, Afea sEfe & Ty § S
I A &l Sl Gl

@m\w (iv) = gRI =gd o9 o o1 UTH HadIah gafefa
$ (@ B (© (@

(A) @) @) (W) (v)
B) @ @) @) (v)
() @v) @ (@)
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17.  Which of the following is (are) the goal(s) of HRD ?
(A) Attracting people to organisation and retaining them
(B) Maximising performance in assigned roles

(C) Maximising performance in future roles

(D) All the above

18. The influence of rater’s general impression on ratings of specific rafff qU¥
called :
(A) Halo effect (B) Central tendency O

(C) Leniency (D) Howthorne @

19. A voluntary group of workers, to examine work, lems that affect quality of
output, is called :

(A) Quality of work life & tearm
(C)  Quality circle the above

20. Restructuring of job conte %n of responsibility between jobs to increase the
amount of responsibility %

(A) Job enlarge

(B) Job enrichment

(C) Job anal 515 (D) Job evaluation

21. sional grid” was developed by :
| (B) Gullick

) T.W. Taylor (D) Reddin

22.  Who gave ‘Theory X' and ‘Theory Y’ of motivation ?
(A) Maslow (B) Herzberg

(C) Mc Gregor (D) Kurt Lewin

J—5508 12



17. Tfafed § @ .M = 2w a8 @1 (39 F) (D) ?
(A) T ! HTST I SR STEhRTHA BT 3R % Yok T@AT (TRTERT L)
®B) TAfe yftrerreti § froured =1 stferehad e
(C) el YfHeRtsTl & fToare ol tfeehad e
) 9w At

18. TYoaIesh o Uil @t Joft feior W Wﬁm‘waﬁww%umﬁw

(A) T g9 (B)
(€ ol (D) el gorma
19. Wﬁwaﬁumﬁﬁwﬁaﬁraﬁwﬁm | ShIQRIET T aTel HRIHAST 1

wfeseh TYE FHEAI ¢ ©
(A) S =it TurEE
(C) TIurEa |k

—

1 fawS IR el = &1 gAraio s

(B) wH HaHd
(D) & g

22. RO 1 ‘ AT IR A -aE | T fean?
(A) HEe (B) @sion
(C) HF IR (D) At
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the smooth introduction and implementation of change.

23. ___is the third person acting as a catalyst, who assists in the achievement of

(A) Change manager (B) Change supervisor

(C) Change plaver (D) Change agent

24. What is the correct sequence of stages of group development ?

(i) Norming

(i) Forming 0
(iii) Storming O

i), (ii) and (iii
() (i), (if) and (iii) .
(B) (i), (iii) and (i)

(C) (i), (ii) and (i) 0

(D) None of the above

25. The main objective of workers” parig management is __

(A) To promote increased pr
and society at large

r the advantage of organisation, workers

(B) To develop, enhance §nd e resources effectively
(C) Toimprove v sl@llls of workers in organisation
(D) To respond toRic pembers” demands both formally and informally

*

ial dispute Act. 1947 the constitution of works committee is mandatory
f workers are :

26.

T more (B) 100 or more

300 or more (D) None of the above

27. Temporary cessation of work by a group of workers is called :
(A) Strike (B) Gherao

(C) Lockout (D) None of the above
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23. & F B9 H wE w g @ SAfte €, Souleds &t fafdsr gpema ik
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(A) IREH TETEw (B) IR wHoEh
(C) Reds faard (D) fEd W=

24. GYE foshra HY steeensii 1 WE STHT FME?

@ A

(i) ‘IHT 0
(iii) ‘=rHT’ O
(A) (), (i) 3T i) Qbo

B) (i), (i) @)

(© (i), (i) 3 () CD
(D) Sudea & | g T \@

25. Yo | g Sl HeWIRTdl o1 §&A
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(D) T & = TS I 9 9 e <

2
26. wﬁ@ﬁw,ww%wwuﬁﬁw#ﬁwmm%ﬁaﬁqﬁﬁ
Sﬂ\?ﬂm (B) 100 41 ST
$ 300 < ST (D) ST® § § g

27.  Afiehi gR1 hTd h1 STl T e ©
(A) Tede (B) ERTS
(C) dreTsict (D) 39 | 9 HE &
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28. The inability of an employer to provide employment due to shortage of power,
rawmaterial and breakdown of machinery is called _

(A) Retrenchment (B) Lockout
(C) Lay off (D) None of the above

29.  Which of the following is/are the essence of model grievance procedure ?
(A) Settlement at the lower level

(B) Settlement as expeditiously as possible

(C) Settlement to the satisfaction of the aggrieved 0
(D) All the above < I

30. Intra-Union rivalry means : L 2
(A) Rivalry between unions
(B) Rivalry within the same union

(C) Rivalry between unions and manageme
(D) Rivalry between unions and governn&

31. UTUC was formed in the year :
(A) 1949 B 1 (C) 1920 (D) 1947

32. Who is the President o 2
(A) Sanjeeva Red@ (B) Dutta Samanth
(D)

(C) Sitaram Etch S. R. Kulkarni

*

33. Arran ing in the order they appeared. Use the codes given below :

dian Constitution
E. 5. I. Corporation
) @ @)
O G) ) )
@ O G @
M G @)
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28.

29.

30.

31.

-t

32.

I, HHTE S HHT SR T & 22 ST i o518 9 61 gR1 USHIR UM T i sraedn
FHEAT ®

(A) Bt (B) dreireel
(C) s (D) SH® H & I8 T

frefafad § 9 ' diedt o= TSR’ 1 gol 9 S @18 ?
(A) ™ W R aHEia

B) o wirer & wre 2 i s

(C) =afed & T % ferd T 0
O w O
e gt o ¥ - @0

(A) HHi o o= gfagh<a

(B) U & | & = gl 0

(C) w3 were % <t wfagle @

(D) G 3R TR & o= yfagfar \

3 4l (k) T = | o o2
(A) 1949

(B) lz
g (318 A <1 9 Hi) 5 T 2
(A) Hsiea g (B) << @HY
(C) Hiarm™ Tl (D) THAN FHeAho

*
Teh< B o hH H Saied i | Fd o3 e o1 STFNT hid T HEl ST Al

(C) 1920 (D) 1947

@ @ @ @0
® 6 ) @)
@ @ 6 @) G
® O G @ G@
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34. Arrange the following Acts in the order they were enacted. Use the codes given
below :

(i) Workmen's Compensation Act
(i) Maternity Benefit Act

(iii) Factories Act

(iv) Equal Remuneration Act

@ O G @ @
® O ) G G 0
© @ @) @ O O
O @™ @ @) 0
<
35. Which of the following is not correct ?

(A) Both the Central and State Governments C our laws
(B) Only the Central Government can e“k aws
(C) Only the State Government c DT laws

(D) None of them can enact labo®gla

36. Which of the followin me s wrong ?
(A) Part IV of t@n onstitution deals with the Directive Principles of State
Policy

(B) Employ%gs St%e Insurance Act was enacted in the year 1948

t, 1948 comes under the category of Social Security Legislations

ssistance is contributory in nature

3 ich of the following staterments is not correct ?
(A) The basic objective of labour laws is to protect interest of both parties in industry
(B) Labour laws protect only the interest of working class
(C) Labour laws control the behaviour of both the parties in industry

(D) Labour laws protect the interest of employers only
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4y

(ii)
(i)
(iv)
(A)
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(B)
©
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GG o 0
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L 2
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I SR TF THI TR FIT o1 TRt §

kel s HLHR G hA o1 Fehal

sheret T TLhR FH A o1
T A BIE g9 FHEA AL S g

36. frafafea § @ =@

(A)
(B)
©
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38. Which of the following staterments relating to the Trade Unions Act is correct ?
(A) A registered trade union cannot constitute a separate fund for political purposes

(B) Any person who has attained the age of fourteen years may be a member of a
registered trade union

(C) A person who has not attained the age of eighteen years shall be disqualified for
being chosen as an office-bearer a union

(D) The general fund of a union cannot be spent for payment of sal#fi®qyto
office-bearers of the union

39. The Industrial Employment (Standing Orders) Act, 1946 is ajfplic 0 every
establishment wherein ______ workmen are employed.

(A) 50 (B) 70 (C) 80 ®¢D) 100

40. Which schedule of the Industrial Disputes Act, @ the list of public utility

services ?
(A) First Schedule Sec chedule
(C) Third Schedule rth Schedule
41. The Equal Remuneration Ac d in the year _ .
(A) 1972 (B) 1976 (D) 1977
42. Which of the foll tatements relating to the Payment of Wages Act is not
correct ?
* .
(A) The $ enacted in 1936
(B) is Act payment of wages cannot be made fortnightly

ct has provision for authorised deductions from wages

) ®Onder this Act, the definition of ‘Employed Person’ includes the legal representative
of a deceased employee

43. ‘Trusteeship theory’ of labour welfare was proposed by :
(A) M. K. Gandhi (B) V.V.Giri
(C) Bal Gangadhar Tilak (D) Jawaharlal Nehru
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38. TSIgy WY Sifuftam % wrag ¥ S W1 U 9E 72
(A) TSfihd TSI HF TSHfaes Sewdl o ford gk Y =& o1 wehat 1
(B) @ ff AT S Higg a9 HI MY I B TA1 § ISHiehd TIGL HH I U o Fhell & |

(C) o9 = it 311 3TNE T8 &1 T8l g3 © 98 6o I TGIHRRI g1 oH § STEIHhd Seudl
SR

(D) 9 T I Y G o qRIfHRIEl & o YA o ford = T8 @ S

39. SirEnfieh TSR (Tl wHTeRT) STfufem, 1946 Fereh Wiaee W SRl Osmﬂaﬂ
A § W AR BT € |

(4) 50 (B)
40. SNt faare sifuftem, 19473%%311@@ @aﬁ‘@ﬁﬁ?ﬁ"@%7
) e ST
(© T ST

41. wmﬁsrﬁwsqﬁ:ﬁwmaﬁ

(A) 1972 1976 (D) 1977
42, HOGH PTAH Af FHeA | G HF 91 HE T S 2
(A) 1936 o |

Yehd halfaal o ford erfaf=m § qaum 7

ufe & eialq, ‘Frg® =afe’ ot aiam feama = & e gfaftya
A T

43. 99 Heam & ' TRIRY fagra’ e g yEattaa fohan T e ?
(A) TH, T (B) e fifk

(C) e MR foers (D) AR 8E
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44. Employers are required to provide a creche if the number of women workers employed
in factory is :

(A) more than 50 (B) more than 30
(C) more than 100 (D) more than 150

45. Welfare programmes undertaken outside the organisation are called :

(A) Statutory welfare programme

(B) Intra mural welfare programmes

(C) Extra mural welfare programmes 0
(D) Non statutory welfare programmes O

*
46. ILO was formed in the vear :
) 10 (D) 1926

(A) 1919 (B) 1947 (
47. Wages expressed in terms of money are cal :@
(A) Nominal wages (B) 1 wages
(C) Wage scales Fringe Benefits
48. The Residual Claimant r}&es was propounded by :
(A) Karl Marx (B) David Ricardo
(C) David John (D) Francis A. Walker
*
49. Ifaw etermined by job evaluation, it is called :
(A 1 wage (B) Standard wage rate
ieCe - rate (D) Time - rate

The committee on Fair Wages was appointed in India in the yvear ___

(A) 1946 (B) 1947 (C) 1948 (D) 1949
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44.

45.

46.

47.

48.

49.

IS 1 5= ! Gioe YSM il TSl § A1G @M H M HL T Sl gfiehi &l de
(A) 509 e T (B) 30F 3feres T
(C) 100 ¥ s1fe T (D) 150 ¥ aiferk 1

T 9§ 918t I S Il ShedT0 HEhY e ©
(A) i Heam wRHH

(B) STRIA A HIEHA
(C) THHIRIA Hedml HEHA 0

(D) STALTR HTATT HRIHH O
TS, T, 31, it T fond o6 H g8 off ?

(A) 1919 (B) 1947 (C) 16 (D) 1926

Hifgs €9 | S TS FHEawd ¢ : &ﬁ
(A)  HHE HIgd (B RS

) TSIgd whd (9oT) ST ey
Wwﬁw gfduried feram ?
(A) (B)
©) (D) IfEH T, afe
¢
RIS Frufcor & (St Fediend §RT a1 § O 56 had © ¢
(A ( ) HSIgd (B) WM& TGl T
R (U - @) (D) 99 R

IRd § =Ariifd Aeig W 9t ford o § 1w &t T8 ot ?
(A) 1946 (B) 1947 (C) 1948 (D) 1949
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